Solve each exponential equation in Exercises [-22 by expressing
each side as a power of the same base and then equating

exponents.

1. 2F = 64 2. 3 =81

3, 5 =125 4. 5* = 625

K 94k =139 6 3 =77

7, 4% = 64 B 5% = 195

g, 9% = § 10. 4* =32

11, 9% = 27 12, 125*F = 625

13, 3 ¥ =g 14 5F°F =i
gl

5.6 1 = V6 16. 7° =\V7
17. 4* = — = I8. ' =
V2 V3

19, 8% = 16" 20, 810 =4

21, ¢t = - 9 gt s o

Solve each exponential equation in Exercises 23—8. Expren

solution set in terms of natural logarithms or common |

(]l';!ﬁ

Then use a calculator to obtain a decimal appm.rimmmn. COTTEL
to two decimal places, for the solution.

23. 10" = 3.91
25. ¢* = 5.7

27, 5% =17

29, 5S¢ = 23

31. 3¢ = 1977

33. (’I W = 703

35. 773 — 2 = 10476
37. 742 = 410

39. 7 = 813
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cet = 3e' 12 =
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24, 10° = 8.07
26. ¢" = 0.83

28. 19* = 143

30. 9¢* = 107

32, de™ = 10273

34, '8 = 7957

36, et T -7 =112
38, 5 =13

40. 3% =02

g2, 72+l = 3

44, = — 2e' ~ 3 =0
46. ™ — 302 - g =0
48. 22 + 24 - |2 =0



-h mg”n-,;,mi(- cguu!t’m! in Exercisey § 49-92. Be sure 1o
alue of X that is not in the domain of the original (
"-“'. pH“"”“ Give the exact answer. Then, where
"l‘“.\\;u\' yse calculator to obtain a decimal approximation,
¥

T decimal places, for the solution.
FU

oy =4 0 logn=s

4 I =g 52. Inx =3

@ lom(x ¥ 5)=a 54. logs(x — 7) = 2
« loglx +25) =4 56. logy(x + 50) = s
i ol + A= -3 38. logy(x +2) = —»
g, g3 +2) = 3 60. logy(dx + 1) =

;.l. sIn(2x) = 20 62. 6In(2x) = 30

o 6+2nx="5 64. 7+ 3Inx =
anVit3=1 66. In\Vx + 4 =

¢7, logs ¥ Ea IOQR(4’5 =1)=

{‘Hvig(+w)+10 x=2

@, logs(x + 6) ) + logs(x + 4) =1

0. loge(x + 3) + loge(x +4) =1

11 o+ 2) — logs(x — 3) =3
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v+2) —logyx — 1) =1
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=
I
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7B 2logy(x + 4) = logz9 + 2

U 3log(x — 1) =5 — log, 4

% logs(x — 6) + loga(x — 4) — logy x = 2
% log(x — 3) + logy x — logy(x + 2) =
7. loglx + 4) = logx + log 4

B log(5x + 1) = log(2x + 3) + log 2

M. log(3x — 3) = log(x + 1) + log 4

8. log(2x — 1) = log(x + 3) + log 3

il 2log x = log 25

8. 3logx = log 125

8. 1o ( 4) — log2 = log(5x + 1)
. log(x + 7) — log 3 = log(7x + 1)
8. 2log v — log7 = log 112

% log(x — 2) + log S = log 100

W logx + log(x + 3) = log 10

M. log(x + 3) + log(x — 2) = log 14
Infx ~4) 4 In(x + 1) = In(x — 8)

1
 logy(x - 1) = logy(x + 3) = logz(;>
Iy - 2)~In(x+3)=In(x—1) — In(x +7)
“I~5) — Jn(x + 4) = In(x — 1) — In(x +2)

=



